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Direction: Read the following passage
carefully and answer the questions
(Q. Nos, 1 to 5) choosing the correct
alternative :

The world owes no man aliving but thatit
owes every man an opportunity to make a
living. Whatever man needs, he must
acquire through hard work. Nobody can
fulfil his wants by the wave of a magic wand.

Ui

If anyone wants to have anythlng without
undertaking the burden of labour, he has
to either live on others' labour or indulge in

llegal activities which deserves no d ignity

atall. For success ln life, man hasto stnke '

a unique balance between hlS desures and
his achievements. 'Thls,can be achieved
through hard labour, physical or mental. If
man i»s not willing to work or indulges in
laziness or gives in to procrastination, _He
cannot survive in a meaningful way.
Unfortunately, the youth of today have little
respect for physical work and hanker after
whitecollar jobs with comfortable work
places and fat salaries without making their
hands dirty. They should understand the
dignity of physical labour. They should
keep it in mind that no nation can flourish
without the hard physical work done by
farmers, miners, and industrial labour who
make their living by the sweat of their brow.

1. How can man fulfil his wants in an
honourable way ?

(A) By living on others’ labour.
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(B) By the wave of a magic wand

(C) By means of hard Wo_rk

(D) Byindulging in illegal activities
Man can strike a balance between his
desires and his achievements by :
(A) Giving into procrastination

(B) Being unwilling to work

(C) Indulging in laziness

(D) Doing hard labour

"Which of the following is a white-collar

worker ?

(A) Afarmer

(B) A bank officer

©) Aminer

(D) An industrial worker

One who lives on others’ labour s
(A) Afool |

(B) Athief

(C) A parasite

(D) Alazy person

5. The most appropriate title of the given

passage can be :

(A) Dignitylof Laboer

(B) Struggle for Existence -
(C) The Youth of Today

(D) Success in Life

Contd.

C} Scanned with OKEN Scanner



Direction : Answer the questions
(Q. Nos. 6 to 15) choosing the correct
: alternative 3

6. The word similar in meaning to

‘flourish’is :

(A) Perish

(B) Prosper

(C) Wither
)

(D) Acquire
7. The word opposité in meaning to
‘Industrious’is :
(A) Coufégeous ,
(B) Stupid -
() Lazy
(D) Clever

8. -Border conflict is always '3
_ issue between two

neighbduring nations.

Pick out the most suitable word.
(A) debate x

(B) debating '

(C) debated

(D) debatable

(@ Teacher —— alimy doubts
i in English grammar. |
Pick out the most suitable word.
(A) clarified |
(B) clarify
(C) clarification

(D) clarifying

. -OD-1BN7

13

10.

11.

12

(3)

Which of the following words is
correctly spelt ?

(/->) Absense

(B) Acceptible
(©) Aknowledge
(D) Accommédate

Which of the following sentences is

correctly punctuated ?

(A) The prince wonders, What a
piece of work is a man !

(B) The prince wonders, “What a
piece of work isa man !”

(C) The prince w‘onders, “What a -

“piece of work is @ man’
(D) The prihce wonders “What a

piece of work is aman "

Alas ! How quickly things go wrong !

The underlined wordisa:

(A) Noun

(B) Preposition
(C) Interjection

(D) Conjunction

Had | the wings of a dove, I
across the seas.

The correct form of the verbis:
@) wilfy

(B) would fly

(C) shallbe flying

(D)

D) canfly

(Turn over)
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14. Who has been teaching you English 7

- ga 21

The sentence can be changed into

passive voice as :

(A) By whom have you been taught
English ?

(B) By whom had you been taught
English ?

(C) By whom is English taught to

you ?

(D) By whom are you being taught

.English ?

Teacher said to his pupils, “Are you

ready forthe test ?”.

The sentence can be changed into
indirect speech as :

(A) Teacher asked his pupils were
they ready for the test.

(B) Teacher asked his pupils if they
were ready for the test. - '
(C). Teacher asked his pupils that if
they were ready for the test. |
(D) Teacher asked his pupils if fhey
had been ready for the iest.
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19,

20.

21.

22.

i3,
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600 Q4Q 299 QI ARIGE! Q4 gRIAIN ?
A) €, Q

(B) aQQIe, 08aQ

(C) @, @

D) &, §
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. 24,

25.

(C) ARGRE Q10a
(D) @98 @@
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(A) gotal

@ oegd

2.

27.

(C) asen

(D) agen

By which Treaty, British acquired the

~ Diwani rights of Bengal Blhar and
) Odlsha'? ‘

(A) Treaty of Salbal

(B) Treaty of Amritsar .

(C) Treaty of Allahabad
(D) Treaty of Purandhar

Whi_ch'was fhe’ first’PrinCely State to

- be a‘nhexed to the British empire

under the Dbctrine of Lapse ?

(A) Jhansi

(B) Nagpur
(C) Sambalpur

(D Satara

’ (Turn oVer)_
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30.

3

28. Where did Swami Vivekananda

“

deliver his famous speech at the

- Parliament of Religions ?

(A) New York
(B) Chicago
(C‘) California
(D) \f\'/ashington‘

Hindu widows' 'Remarriage Act,
1856 ?

(A) Rammohan Roy

(B) Dayananda Saraswati

(C) Keshab Chandra Sen

(D) Ishwar Chandra Vidyasagar

20, Who is credited with the passing of | _
33.

Who did,establis'h Satyasodhak |

Samaj ?

(A) E.V. Ramaéwamy Naicker -
(B) Joti Govindrao Phule - |
(C) Sree.Narayan Guru

(D) B. R.Ambedkar o

. Where did the Indlian ‘National

Congress adopt the résolution on
‘Non—Cboperétion Movément’ at its
annual sessio‘n'?

(A) Bombay

(?) Madras

(C) Calcutta

(D) Nagpur

oD - 1B/17
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32

34.

35.

- ©
)

in which Gandhian movement did

Aruna Asaf Ali play @ very prominent-

role 7 ¢

(M) Non-ACoopération Movement

(B) Civil Disobedience Movement

(C) Individual Civil Disobedience
Movement

(D) QuitIndia Movement

Which~Emperor of France said, ‘After
me the Deluge’ ? \

(A) Louis XIV

I'4

(B) |
(C) Louis XVI .
(D) Louis XVl

B) Louis XV

Which country did withdraw from the
First World Wa'rwhen.the Warwas still
going on? & o

(A) Japan-
(B) Austria -
C) Russia

Tu rkey

The attack_(.)'n which country by
Germany led to the starting of the
second World War ?

(A Ffanqe - ‘
(B) ‘England ¥
(C)

(D)) Poland

Russia

Contd.
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36.

Who from below wag not a membef
of the Cabinet Missjon constituted for

the eqrp’ose of formation of
, ConstltuentAs_sembly ;

(A) Lord Wave|

) SirPethick Lawrence

(B
(C) Sir StaffO[d Gri Ipps
(

D) SirA.V. Alexander

. Which one is the correct expression

. ofthe structure recommended by the

38.

Preamble ?

(A) Sovereign Secular Socialist
_Democratic Republic

(B) Sovereign Socialist Democratic

_ Secular Republic -

(C) Sovereign Secular Democratic

Socialist Republic .

(D) Sovereign Socialist Secular
2 _ ular

Democratic Republic -

Seventh Schedule of the Constitution
deals with . ' ; |
(A) Provisions with regard to North -
 East i |
(B) Distribution of power between
Union and States

~ (C) Languages of the Union

39.

([?) Provision of Oath by Prime

- Minister etc.

Which one is not e salient feature of |

the Constitution of India ?

(A) Parliamentary Government

OD.'—'1B[17

40.

41,

42.

43,

(©

(B) Secular State
\
D

(D) Single Integrated Judicial system

) Rigid Constitution

Who bresjdee over Joint Session of

Parliament ?

(A) President of India

(B)

(/C) Speaker of Lok Sabha
)

(D The House elects a Chairman

Vice-President of India

Which State beiow has no second
Chamber (Legislative Council) ?

(A) Maharashtra

(B) Madhya Pradesh
) -‘Andhra Pradesh

(D) Uttar Pradesh .-

Who eppoints Judges of High Court? -
(A) President

(B) Governor of States

~(C) Chief Justice of India
" (D) Collegium system of Apex Court

What is the'import_an'ce of Article

1437 |

(A} It deals with speCIaI powers. of
Apex Court. '

(B) Provision with regard to Judicial

 review. L

(C) Presidents power to seek opinion
of the Apex Court on matters of
importance. '

(D) Power of transfer of cases from
one Court to another. ’

- (Turnover)
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44. The Basic Structure Doctrine was spelt

outin thejudgément of:

(A) Shankari Prashad

(B) Golaknath

. (C) Keshavananda Bharati
(D) Minerva Mills

45.
Constitution the Right to Property was
removed from the list of Fundamental
Rights ? - ' |
(A) 24" Amendment
(8) 29" Amendment
Q) 42”dAmer_1dm¢nt
(D) 44" Amendment

- 46.
" which is located 3 hours ahead of
Greenwich ? :

(A) 45°W .
- (B) 45°E

(C) 30°W

(D) 30°E

47. Which Mountain pass does Jom

Sikkim with Chlna ?
(A) DlpherPass
(B)
(C)
. (D)

Nathula Pass
Jelep La Pass

Pangsau Pass

48.

‘isknown as :
(A) The Punjab Himalayas
(B) The Nepal Himalayas

oD -1B/17-

By which Amendment of the |

What is the longitude of MOSCOW

The part of the Himalayas lying.
between the Sutlej and the Kali rivers

~(C) The Kumaon Hi.malayas_

- (D) The Assam Himalayas

49. Which State has the maximum area

50..

under dec&duous forest cover ?
Ay Madhya Pradesh‘

(B) Odisha

(C) Chhatisgarh

(D) Jharkhand

Why does the climate of Amritsar and
Shimla vary even if both are located

*- almost on the same latitude ?

(A)- Difference in their altitude

| (B) Dlstancefromthe Sea &

(C) Snowfall in Shlmla
(DY PoIIutlon in Amritsar

51 ‘The SOII fvo}med by wind dust in and

around ho "'deserts is known as :

st important use of

: »(A) Paperlnd_stry

53,

(B) Fertlhzerlndustry
(C) Plaster of Pans
(D) Textlle lndustry

Wthh National Park is famous for

" Elephants?

{uisM
}

(A) Similipal s
(B) Periyar

' »_(C) Manjira .

(D) Ranthambore

| Contd .
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54. After Textiles, which ig India's most
important industry in terms of
contribution to Gpp

(A Sugar

- (B) Food Processing v
(C) Aluminium

' (D) lron and Steel

55. WhlGh Programme has been launched

by NABARD to promote natural
farnung ?

(A) URJA
(B) PRAAN
(C) AYUSH
(D) JIVA

56. Which of the following is a biodiversity
hotspot in India ?
(A) The Western Ghats
(B) The Sundarbans
(C) The Eastern Ghats
(D) The Gulf of Mannar 2

57. Which is the most Ilterate trlbe in India
as per 2011 Census /¢
(A) Kandha
(B) . Saura

~ (C) Santal
(DJ) Gond

58. What does absolute poverty mean ?

(A) Poverty in terms of absolute
number of people

(B) Poverty in terms of basic
minimum calorie requiremnents

(C) Pover’(y in terms existing price
level | '

(D) Povertyinterms of absolute level
of unemployment

OD— 18/17

59. The rate at which Reserve Bank of

India lends money to Commercial
Banks is known as :

(A) CRR
(B) SLR

(C) Repo Rate

(D) Reverse Repo Rate

60.Which graph does reflect the

relationship between a country's per
capita income and its inequality of
: income distribution ?

(A) LorenzCurve-

(B)- Phillips Curve

(C) LafferCurve'

(D) Kuznets Curve

Read the passage carefully and answer
the questions (Q. Nos. 61 to 64)
choosing the correct alternative :

One cannot be truly human and civilized

unless one looks pon not only all fellow
men but all creation with the eyes of a

frlend Throughout India, edicts carved on _'
rocks oriron pillars are remlnders that 2 22

' centunes ago EmperorAShoka defmed a
* King's duty as not merely to protect citizens
- ——

and punish wrong- -doers but also to
preserve anﬂailfg_______amdforeit trees.
Ashokawas the first and perhaps the only
monarch unwecently to forbld the’
killing of a large number of species of
animals for sport or food. He went further,
regretting carnage of his muhtary conquests
and enjoining upon his successors to find

‘(Turn over )
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“their only pleasure in the peace that comes

_ through righteousness”.

It is said that in country after country,
progreSs should become synonymous with
assault on nature. We, who are a part ¢ of
nature and dependwt on her for every
need, speak constantly about explortrng

nature. When the hrghest mountaln in the
world ctarmed in 1953 Jawaharlal Nehru

obrected to the phrase Conquest of

Everest” which he thoughtwas arrogant. Is |

it surprrsrng that this lack of consideration

and the constant need to prove one's

superiority should be projected on to our

treatment of ourfellow men

61. What in Ashoka s oprnron |s not the . |

" duty of aKing ?
| (A) vTo protect_'citizens‘
‘@ To punish the wrong-doers
(C) To colleot tax and fill the roy_al
treasury | |
(D) To"preserye anfimal life and forest

trees

62. Why is Ashoka a unrque monarch ? '

\

(C) He carved edicts on rocks or iron
pillars.
@ He p'reserved animal life and

forest trees.

63. Why did Jawaharlal Nehru objecttothe
phrase “Conquest of Everest”?
- (A) Itspeaks of man's cruelty.
(B) It speeks of man's assault on
nature.

(C) It speaks of man’s selfishness.

(D) It speaks of man’s afrogance.

64. How, aocording to the author, canone

be truly human and civilized ? |

(A) If one‘-lookrs upon his fellow men
and all creation as a friend.

(.B) If one looks down upon his fellow

“men and all creation.

(C) I_f one speaks constantly about
“exploitirrgj’ nature.

(D) If one projeots oneself as superior |
to allone’s fellow men. |

Direction : Answer_ the questions
(Q. Nos. 65to 70) choosrng the correct

- alternatrve

. (A) He was a great military conqueror |

(B) He enjoined upon his successors

to enjoy peace through
righteousness. |

oD BT

(10)

65. The word srmllar in meamng fox:
‘Conquest’is : |

(A) Surrender
(B) Defeat
(C) Carnage
'(D) Victory

Contd.
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66. The word opposite in meaning to

‘Natural' is :

(A) Genuine
(B) Unaffected
(\C)’ Artificial

(D) Spontaneous

67. A single word for the expression

B68.

‘pleasant and friendly” is:
{A) Notorious

(B) Amiable

(C) Amicable

(D) Courteous

He has not done his homework. He

has not brought his note-book to class.

Combining these two sentences into

a single sentence using ‘neither ... nor

we get:

(A) Neither he has done his
homework nor brought his note-
book to Claés.

(B) He has done neither his

homework nor brought his note-

book to class.

He has neither done his

homework nor brought his note-

Kook to class.

(D) He has done his homework

neither nor brought his note-book -

to class.

oD - 1B/17

(11)

69.

70.

- (D) No sooner than he realised n

As soon as he realised his mistake,
he said, “Sorry".
This sentence can be rewritten using
‘No soonar’ as .
(A) No sooner he realised his

mistake, he aaid, "Sorry”.

oy
d nis

(B) No sooner he realised
mistake than he said, “Sorry”.

(C) No sooner had he realised his
mistake than he said, "Sorry’.

A his
IS

mistake, he séid, “Sorry”.

During the rains, Ananya has planted
afew saplings. Her brothers have also
planted a few saplings.
Combining these two sentences into
a single sentence using ‘as well as'we
get:

(A) During the rains, Ananya as well

" as her brothers have planted a
few saplings.

(B) During the rains, Ananya as well
as her brothers has planted a few
saplings.

(C) During the rains, Ananya has
planted a few saplings as well as
her brothers planted a few
saplings.

(D) During the rains, Ananya has
planted a few saplings as well as

her brothers.

(Turnover)
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71. The first C

~

(@S]

*OVID-18 vaccine of India
developpd by Bharat Biotach is -

JA) Covishield -~
(B) Corbevax
(C) Covaxin .

(D) Modema

'2. The parasite that causes Malarla

belongs o

(A} Virus

(B) Bacteria
©r Proto.zoa«-
(D) Helminthes.
. India is a ‘Quasi f;ederation'. Who
said it ?

(A) lvorJennings
(B) H.D. Laski
(C) K.C. Wheare
(D) S.E. Finer

74. G-20 was constituted in the year : -

(A) 1991
(B) 1999

(C) 2000
(D) 2008

. Which one is not a salient feature of
the Indian Constitution ?

(&) Parliamentary form  of
Government
(B) Provision for Amendment of the

Constitution

oD - 1B/17

. ofa Common Sc

(C) Double citizenship
(D) Secular State

With regard to Names and Positions

held, identify the wrong -

(M) Shashikanta Das : Governor of
RB.I.

(B) Biswabhusan Harichandan -
Governor of Andhra Pradesh

(C) Kamala Harris : Vice-President of
USA.

(D) J.P.Nadda: President of B.J P,

. In wh|chyear was the University Grants

Commission established ?
(A) 1948
(B) 1949

(C) 1952

(D) 1953

78. Which of the followmg Commission’s

report recom

1ended for introduction
' ' 'ool System of Public
Educaﬂon? f'f"} ,

Educaﬁoh
Commnssnon,41g48 49

(A) 'Univer'sity?“

(B) Secondary Education
- Commission, 1952-53

{C¥Tndian Ed_uc'ati(;n Commission,
1964-66 ‘

(D) lnterngtional60mmission of
- Development of Education, 1972

Contd.
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@ Who among the following was the

80.

81.

82.

Chairman of the National Knowledge
Commission of Indja ?

(&) Prof. Yashpal
- (B) Sam Pitroda

(C) Prof. Ved Prakash

(D) Acharya Ramamurthy

Which of the following Organisations
~was established to evaluate the

performance of the Colleges and
Universities in India ?

(A) NCERT
@\ NCTE.

\OYNAAC.

(D) U.GC.

of the letter which is 12" from the left
in Englis‘h‘a|phab_et‘?
TR
R
(C) S
DT

LEAVE is coded as 62452, then
‘CAVE' should be coded as :

Which letter is the oth letter to the right -

If CLOCK is coded as 36938 and

83. A series of numbers is given where

one number is missing. Find the

migsing number from the given

alternatives,

2.5,10,(7), 26,37

(A) 16

(B) 18

of 17

(D) 16

From the following Statements and
Conclusions, find the correct answer

from the given alternatives :

84.

Statements : 1. Some actors are singers.
- 2.All Singe_rs are dancers
Conclusions : 1. Some actors are dancers.
| : 2: No singer is actor.

. \Qf O‘n.ly.C‘onclu'sion ‘1’ follows.

(B) Only Canclusion 2 follows.

(C) Both the Conclusions ‘1'and 2’

follow.
(D) Neither Conclusion ‘1'nor ‘2’

follows.

85. Arrange the following words in &
meaningful sequence .
4 Sentence, 2. Paragraph, 3. Word,
4 Letters, 5. Phrase

(A) 4325 (A 4.1,5,3,2
@) 3451 B) 4,1,3.5.2 . )/
(C) 3453 (©) 4,2,5,1,3 /
(DY 3452 ) 4,3,5, 1.2
' (13) | (Tumover)
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86. IfAisthe brother of B, B is the sister
of C and C is the son of D, how D is
related toA ?

(A) Brother
(B) Nephew

@/ Father

(D) Uncle

8‘7. Find out the alternative that will replace
the question mark in the following
question ;-

Paw : Cat:: Hoof : (?) -

(A) Lamb |

(B) Horse

: (C) Elephant

(D) Lion |
. Y is in the east of X who is in the north
, of Z. If Pisin trl_e so.u_th’.of Z, then'in

which direction of YisP? ™~

(A) North. :

(B) South-East "

(C) South

(D) South-West'.

89. | have a few sweets to be distributed. -
If1 put2,3 or 4 in a pack, | am left with
one sweet. If | keep five in a pack, | |
am left with none. What is the minimum.
number of sweets | have to pack and
distribute ?

(A) 25
¥ (B)'37

" (©) 85

(D) 65

OD - 1B/17 (14)

90. Choose the word which is different

91.

from the rest in the given alternatives :
(A) Rigveda | § o

(B) Ayurveda
()
(D)

D) Samaveda

Yajurveda

Which of the following is not related to

i Creativity?

92.

(A) Cohformity

(B) Originality
(C) -Fluency -~

(D) Flexibility

Which of the following is not related to

- introducing @ lesson at introduction

93.

(B) Assessment

stage ?
(A) AsSessmént of entry performance

of previous

~ knowledge

(C) Asséss_mvent‘ of léarning
outcome's of the topic being
taught |

(D) Relating to the essence of the
topic

Which type of Ieafning inﬂﬁe’nces the
attitude and valués_ of the learners ?
(A) Affective |
(B) Cognitive

(C) Conative *
(D)

D) Psychomotor

Contd.
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